EXTRA Test Review

Geometric Sequences and Series

Mathematical Modeling

1. Given:3,-6,12,-24, ...
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2. Given 2700, 900, 300, 100, ...
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3. Given: a, =5(2)""
Find 1%t 5 terms of Geometric Sequence
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4. Evaluate the geometric series described
8 S - 3(1-4%)
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S¢=€5,535

5. Determine the number of terms n in the
geometric series
A1=4,r=3,S,=4372

6. Given 2 terms in the geometric sequence, find
the formula
HINT: find r & a; and plug into formula for a,

3oy = 4030 -21¢7 = =37 A1 = 2025 and a7 = 400
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Graph the following piecewise functions
7. 8.
f(x)=43x  —-2<x<2 F— %, y -
-2 X>2
'NC: 3 Domain: jp\ 3
(-4,2] 5 ;
DEC: N Range: ﬁ\ s
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Discontinuity: il ., r
Med X=X Ly 3(3\, <O 4

What is f(-1)?
F-) - -3
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